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Comparison of Level 3 and Qwest Proposals for the Compensation of IP-Enabled Traffic
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SCENARIO CALL WHO PAYS RATE? WHO PAYS RATE?
WHOM? WHOM?
1 User A—User B ILEC pays CLEC Recip. Comp. ILEC pays CLEC Recip. Comp.
Via ESP; (.0007 or .002-.003) (.0007 or .002-.003)
2 User A—User B CLEC pays ILEC Originating Access” ILEC pays CLEC Recip. Comp.
Via ESP> (.008, if interstate) (.0007 or .002-.003)
3 User B—User A CLEC pays ILEC Recip. Comp. CLEC pays ILEC Recip. Comp.
Via ESP4 (.0007 or .002-.003) (.0007 or .002-.003)
4 User B—User A CLEC pays ILEC Terminating CLEC pays ILEC Recip. Comp.
Via ESP, Access (.0007 or .002-.003)
(.008, if interstate)




